- o5y
SR A (7

[20234 112 28 06A| 2HE ]

Hrsd 7|8 2(H11-552)
|7k 20231 112 289 06A] ~ 118 299! 06A])

Of| £k

oo
02

X

> 27|7Hg

O (2:5) #TH06A)), HIFEES
oLt 5 2K/ Lo A
R

St
S

Lt
o

O (L) = SEXLof fIXlet n7[ge] 7F3RIZ|of

EZ0Z 0|5dl= 1

71l 7 At2|of

o5~ 15

ajo

|
SAL

E7Alo
= M=

o, FEEAUSHLC

2 Z2|1 §MZ0| 12kt2km/h) 2 20 A2 10kmUL|CEL 25282 7|LE2| FE0lA Tt &
O, Se[il Ofg ohif H| 7} Lf2[Zl1, 220= 78 T+&8

ofl & Z|X/x[217]|2 (O

ol ZXMHZG2=(0)

A 34

o

(mm)/&H(cm)

(=) /13, (W g) 8/14 (e 7 (=) 1Ll /-
> A 7|H0E
O gs
AlZtE £330 =
289
a2 06 07 08 09 10 1 12 13 14 15 16 17
4 4 4 4 4 4 4 4 4 4 4 4
EE/EuE
(0725 | a | = | | a = a a - | a
=514 =E 14 =214 =14 =9 =9 =9 =E.9 =9 =9 =9 =9
A HiZ:5 H, =5 H, =5 H HiE 5 H HiE:3 H HiZ:3 A HiE 3 H HE3 H HiZ:3 H =3 A HiE3 H HiE3
289 29%
18 19 20 21 2 23 00 01 02 03 04 05
$$4£4i4$4$4£4i44414£4$4
=39 =33 =33 =33 ] =83 =33 =23 ] =3 £33 =23
,HE3 H,HE 4 B4 o B4 H,HE4 R B4 o B4 H,HE4 4 H, HE 4 B4
XE5Z/ QS 2 SE 2T 20 et High2 2|o|stn, thel= kY Of: '53: 4= 530 4kt S 2|0))
> ZEDIE
O 8=
O HARY
XE7|e A BEO| st RtMeh A2 287 4H ST 0| X|amokmagoknof A =l 4= & LT
X7 ghol SEAL HaotHs Sl FAXHD 7 HAE(RUS U= HFSE 7|0l (TEL 064-742-0365 / FAX 064-746-1046) 2
LE{FA|7| HiELCh




